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(1) y=(3x-5)"
y=(3x=3) (1) y=x-3x
(2) y:esxz-z
(3) y=log(x+1)
(4) y=sin3x
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2 y=—x'-=x’
25U ko X, 4 2

(1) f(x)=x"+1(x=1)

(2) f(x)=€"(x=0)

(3) f(x)=log(x+1) (x=0)
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(1) y =(3x—5)4
¥ =4(3x-5)"-3=12(3x-5)’

¥'=3-12(3x-5)"-3=108(3x-5)’

(2) y:eszfz
y'= 10xe™

¥ =10e""7 +10x-10xe™ * =10(10x" +1)e™

(3) y=log(x+1)

ye— e
x+1 (x+1)

(4) y=sin3x

y'=3cos3x y'=-9sin3x
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(1) f(x)=x"+1(x=1) f'=5x","=20x" >
F)=P+1=2, f1(1)=51*=5, £"(1)=20- =20

F()= £ (1) £ (=1) (1) x-1)

f(x)':,2+5(x71)+2—20(x71)2 =2+5(x-1)+10(x~1)’
(2)
7(0)
£(x)= £(0)+ £(0)(x=0)+3 £ (0)(x—0)

f(x)zezx (x=0) f1=2e", [ =4 —
= =e" =1, f'(0)=2-¢" =2, f"(0)=4-¢" =4

f(x)':.1+2(x—0)+%(x—0)2 =1+2x+2x*

(3) f(x)=log(x+1) (x=0) P S

£(0)=log(0+1)=0, £'(0)=1, /"(0)=-1
£ = £(0)+£/(0)(x=0) 3.7 (0)(x-0)
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(1) y=x'-3x
, ) x= 0, 2
y'=3x —6x:3x(x—2):0—>
y= 07 _4
" bx-6=6(x—1)=0—""
=0x—0= X — =0
y y= 2
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(2) y=—x*-2x?
Y 4 2

y'=x3—3x=x(x2—3)
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